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Question 1:
Find the product of the following pairs of monomials:

M 47p (i) —4p,7p (iii) ~4p,7pq
(iv) 4p°,-3p (iv) 4p,0
€. Answer 1:
(i) 4xTp =4xTxp =28p
(ii) —4pxTp = (-4x7)x(px p) = —28p°
(iii) —4pxTpq = (-4x7)(px pq) = 28p°q

(iv) 4p’x-3p = (4x—3)(p3xp) = =12p*
) 4px0 = (4x0)(p) =0

Question 2:

Find the areas of rectangles with the following pairs of monomials as their lengths and
breadths respectively:

(p,q); (IOm,Sn); (20}(2,5)"2 ); (4x,3x2); (3mn,4np)
€. Answer 2:
(i) Area of rectangle = length x breadth
= pxqg= pqg sq. units
(ii) Area of rectangle = length x breadth
= 10mx5n=(10x5)(mxn) = 50mn sq. units
(iii) Area of rectangle = length x breadth
= 20x° x5y* = (20x5)(x2 x yl) = 100x’y* sq. units
(iv) Area of rectangle = length x breadth
= 4xx3x* = (4><3)(xx.r2) = 12x" sq. units
(v) Area of rectangle = length x breadth
= 3mnx4np =(3x4)(mnxnp) = 12mn’p sq. units

Question 3:

Complete the table of products:
First monomial —— 2x =Sy 3x
Second monomial

2 A | e | same | wwess | s | aess
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B 000 | s | s | mes | awes | e | e
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€. Answer 3:
First monomial —— 2x =Sy 3x° —4xy 7x7y —9x*y’
Second monomial

2% 4x* —10xy 6x° -8x*y | 14x’y  -18x'y’

=Yy —10xy 25y —15x°y  20xy®  -35x7y° 45x%y°
3x 6x° -15x%y 9x* -12xy | 2Ix'y | =27x%y?

4y 8’y 20xy’ 12Xy 16Xy -28x'y*  36x'y

7x°y 14x°y | -35x%y*  2Ix'y | -28x'y*  49x'y* | -63x‘y’

-9x7y? -18x°y*  45x%y" | -27x'y* | 36x’y’ | -63x°y’  8lx'y

Question 4:

Obtain the volume of rectangular boxes with the following length, breadth and height
respectively:

(i) 5a,3a’7a* (i)  2p.4q.8r
(iii) xy,2x7y, 2xy* (iv)  a,2b,3c

#. Answer 4:
(i) Volume of rectangular box = length x breadth x height

= Sax3a’ x7a’ :(5>~<3x7)(axa2 xa4)
= 1054’ cubic units
(ii) Volume of rectangular box = length x breadth x height
= 2px4qgx8r=(2x4x8)(pxgxr)
= 64 pgr cubic units
(iii) Volume of rectangular box = length x breadth x height
= xyx2x’yx2xy’ :(]x2x2)(x><x2 K XK YR yxyz)
= 4x*y* cubic units
(iv) Volume of rectangular box =length x breadth x height
= ax2bx3c=(1x2x3)(axbxc) = 6abc cubic units
Question 5:

Obtain the product of:
(i) Xy, Yz, ZX (ii) a,—a .a
(iii) 2,4y,8y*,16y’ (iv)  a,2b,3c,6abc
(v) 1, — 1, mnp
€. Answer 5:
(i) XYX VZXZX=XXXX YX yXzZXz = X' y°z°

(ii) ﬂX(—az)xa3 = (—1)(axa2xa3) = —¢°
(iii) 2x4yx8y’ x16y" =(2x4x8x16)(yx y*x y') = 1024)°
(iv) ax2bx3cx6abe =(1x2x3x6)(axbxcxabc) = 36a’h’c’

() mx—mnxmnp =(1)(mxmxmxnxnxp) = —m'n’p
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